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4,764 884 2,761 912 207
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A 2,374 432 1,351 467 124
B 2,390 452 1,410 445 83
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(432 -0.186x 2374)°  (1351-0.580x 2374)" (467 —0.191x 2374)" (124 — 0.044 x 2374)’

X= + + +
0.186 x 2374 0.580 x 2374 0.191x 2374 0.044 x 2374

(452 -0.186x 2390)° (1410 -0.580x 2390)"  (445-0.191x 2390)" (83— 0.044 x 2390)’

+ + +
0.186 x 2390 0.580 x 2390 0.191x 2390 0.044 x 2390
=10.250
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Sy Sa Sa Sy Wi
20 7 56 12 4 3.237,
30 16 57 25 1 2.359
40 18 68 10 3 2.367
50 20 53 15 6 2.763
60 13 58 23 0 2.111
20 23 51 18 6 2.496
30 23 49 19 9 2.311
40 22 45 27 7 2.302
50 17 57 23 8 2.573
60 20 55 22 6 2.077
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S S S Sy Wi
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40 31 81 25 2 1.686
50 23 89 28 2 1.842
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50 25 86 29 6 1.851
60 39 77 26 2 1.490
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